.. Notés—11.6 — Arc Lengths and Areas of Sectors Name 'VU,{A,

Sector of a circle — a region bounded by two radii and an arc of the circle

Area of a sector:
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Examples:
1. The radius of a circle is 3 cm. find (a) the lengths of the given arcs, and (b) the areas of the sectors

determined by the given arcs. Use 7~ % .
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a2 Find the area of the region bounded hy ABand 4B.

3. Sector XPY is described by giving mZX0OY and the radius of circle O. make a sketch and find the length
of X7 and the area of sector XOV.

A B C D E
msLXOY 20 - 45 120 200 270
Radius 8 2 6?2 0.3
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4, The area of a sector APB is En‘ and mZAQOB = 9. Find the radius of Circle O.
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